HYDRAULIC SUPPORT CLAMPS | iHEEZiZEI R

CSF

3R] oM JBR 37 $5 1

CSF HYDRAULIC
SUPPORT CLAMP

EmFIE
*SXEN BT AERAREBNIRES, #MELES
BTN,

KMIBIRERER . BPHLLSELARR BN EENNEE
BMms BEAFBAR, BRI ASIEERILETTREE.
TREZAHFEEMNRELR. (BH#E2%/E0.3 ~0.5MPa)

B L
RS A T, SUA BRI LI T
BUBESI, FEEILRRIS R AR ISR
EER, EERSGLBENE T,

BE A

EERAIRREEA LT, BTHMERNEEE LRTHNESE
M NEENSEIERE, MRS LA MBERIRRERNIE NI
TEER, (EEERELIBERSET .

sTEEFE % ORDERING INDICATION
=f5l: CSF-040BLG

CSF Z5% Series CSE

Oil cylinder external diameter 048=@48mm

A SEEE EFE

o B SR )
L |34 Pressure {KEE7TMPa
E Hst Type G :HEEHRT (B S GIZAUEER)

103 | R HEE R

S ECETU(PTIEY)

FEATURES

High Supporting Force: The gap between the plunger and the
collet is expanded to improve its overall performance, resulting
in a higher supporting force.

To prevent improper operation caused by high-pressure coolant
and chip dust from entering the internal structure, air cleaning
can be performed in the exhaust hole when replacing the
workpiece. Air cleaning requires a specific air pressure circuit
(recommended cleaning air pressure at 0.3~0.5MPa).

Hydraulic Pressure Rising Type:

The initial state of the piston rod is down. When the oil pressure
is supplied, the piston rod rises and stops once contact is made
with the workpiece at any position. During this period, the
hydraulic pressure on the collet can grip the plunger with
stronger power to generate the supporting force.

Spring Rising Type:

The initial state of the piston rod is up, and the workpiece is
placed on the piston rod and dropped to a certain distance due
to the weight of the workpiece. During this period, the hydraulic
pressure on the collet can grip the plunger with stronger power
to generate the supporting force.

075=@75mm
090=290mm

055=@55mm
065=@65mm

A:Spring rising type ‘ i | |
B:Hydraulic rising
type (standard)

TR TR e LT
Low pressure 7MPa

G: Manifold type (with G thread plug)
S: Line type ( PT thread)

TH378 (kgf)

3 = 25 25
HERER T 437152 HRIERF
5000
4500 CSF-090
4000
©
= 3500
(V]
g
S 3000
£ CSF-075
8 2500
o
2
3 2000
R CSF-065
'S 1500
(e}
= 1000 ] CSF-055
500 7 — [ {csross
T T N R— LT
o e
2 25 3 4 5 6 7
JHE (MPa

Qil pressure (MPa)

1R 28 SPECIFICATIONS

ma e (B e mee EReGE

'WORKPIECE SUPPORT FORCE

MODEL  (WHEN OIL PRESSURE IS 7MPA) OIL CYLINDER  RISING SPRING  PISTON ROD STROKE

(ko FLOW (am')  FORCEX2 (kgf) (mm)
CSF-040 385 1.2 05~08 8
CSF-048 700 2 06~1.0 10
CSF-055 1085 33 08~15 12
CSF-065 1750 48 1.0~1.5 14
CSF-075 2800 89 1.3~19 16
CSF-090 4550 13.1 1.5~2.1 20

(FRImES: SEEYHMEREER (1HE51S0-VG32)

KA STIST B BT B NS, B T (FS015 /0 B 40, Fr s RSB 52
B2 A R B ERIRI &0 S (LA L B R SRR AT 56T 62
PRET,

K2GEBIE LFEEHNBER NEERE. HESTREERNEE
fE. EEEEMEE—ENRE A LTREENASEE,

ReEAEN  RIEERED (R

BFRE(ENEIR

100

Q
)
o S
& s
&
80 = C
2 Y
5 S
€E O “
38 33 &
] o
& n u Y
@‘—é_ 40 L O_ UG
"Ll
S
7]
0
0 1000 2000 3000 4000 5000
&7 (kgf)
Load (kgf)

ERAE HBHE

MAXIMUM WORKING ~ MINIMUM WORKING ~ ENSURE OVERPRESSURE OPERATING Quality

PRESSURE (MPa) ~ PRESSURE (MPa) -RESISTANT (MPa)  TEMPERATURE (C) (ko)
7 25 105 0~70 06
25 10.5 0~70 09
7 25 105 0~70 14
7 25 10.5 0~70 2.2
7 25 10.5 0~70 36
7 25 10.5 0~70 6

Recommended:  1SO-VG-32 hydraulic oil equivalent to ISO viscosity grade

X 1. When the support damp and cylinder damp are used opposite from each
other, the supporting force must be 15 times the amount of the clamping force
and cutting load in order for the support clamp to work sufficiently. Please
check the compatibility of the support clamp and cylinder clamp when selecting
parts.

X 2: The plunger spring force indicates the spring design value. It may vary
depending on sliding resistance of the plunger and characteristic of the spring,
etc. Please use the rising spring force as a reference value.

PNEUMATIC & HYDRAULIC CLAMPS | 104



HMIRIRLESPAIINTRIE

External dimensions and machine dimensions for mounting Unit:mm
AE TR R+ AL-GE ITEM CSF- CSF- CSF- CSF- CSF- CSF- CSF- CSF- CSF- CSF-  CSF-  CSF-
5 MODEL 040AL 040BL O048AL 048BL O055AL 055BL O065AL 065BL 075AL 075BL 090AL 090BL
% n L e T — ‘ A 75 67 85 75 97 85 115 101 142 126 169 149
[ — FETR K : CSF-AL B 54 54 61 61 69 69 81 81 92 92 107 107
— C 45 45 51 51 60 60 70 70 80 80 95 95
- D 40 40 48 48 55 55 65 65 75 75 90 %0
_ E 56 56 64 64 70 70 85 85 107 107 128 128
caum T F 31 31 39 39 45 45 56 56 72 72 88 88
(L} £ 5
z 225 225 255 255 30 30 35 35 40 40 475 475
KRB A+ AL-SE P 1 OK 034 [O34 D40 D40 D47 D47 Os5 Os55 63 Ce3  O75 O75
ey " . . ]| L 68 68 73 73 80 80 94 94 106 106 126 126
AL G = ; #0031, G i . ) [ I 5+
N I e m— IR - M i il - M 11 11 11 11 11 11 11 11 13 13 13 13
N r =199 Al
r \g@\ fh@ b i o N 26 26 30 30 335 335 395 395 45 45 525 525
! J 10 I
K o e ”ri [-..- ( i . | Ny 5 5 0 0 0 0 0 0 0 0 0 0
- f - -—x .- ¢ — ) .
i | A i 1l . B : Q 95 95 95 95 11 11 11 11 14 14 175 175
! - —“{(‘:@ | Bl s . : — R 3E 5.5 5.5 5.5 6.8 6.8 6.8 6.8 9 9 11 11
T S - ] -
wHETER | L hr e il s 145 145 135 135 115 115 145 145 17 17 18 18
T 19 11 21 11 27 15 30 16 35 19 M 21
u 15 15 16 16 20 20 22 22 25 25 30 30
v 6 6 6 6 8 8 9 9 9 9 105 105
w 13 13 13 13 17 17 19 19 22 22 24 24
XX M10x11 M10x11 M10x11 M10x11 M12x13 M12x13 M12x13 M12x13 M16x20 M16x20 M16x20 M16x20
AR+ BL- GEY Yx 25 25 28 28 31 31 37 37 425 425 50 50
) 4 i - Yy 8 8 11 11 13 13 14 14 15 15 15 15
HREFLGIRAL SO ORI
() — — e CSF-BL X Cl  c G (3 RO R4 R47T RA7T  RS3  RS3  R63  R63
1 i BA 145 145 155 155 17 17 20 20 24 24 26 26
e . BB 5 5 5 5 7 7 7 7 8.2 8.2 85 85
et _— BC 13 13 14 14 17 17 19 19 22 22 24 24
j 5 - - JA 35 35 35 35 35 35 35 35 45 45 45 45
G ElE [ L | “4er minen B 5
= [l 17i2ST 8 8 10 10 12 12 14 14 16 16 20 20
A BL- SEY . JB 14 14 14 14 14 14 14 14 19 19 19 19
, ) e dmlm Stye PT1/8 PT1/8 PT1/8 PT1/8 PT1/8 PT1/8 PT1/8 PT1/8 PTI/4 PT1/4 PT1/4 PT1/4
n = Hydraulic port G
REILCE " tyee G1/8 G1/8 GI/8 GI/8 GI/8 GI/8 G1/8 GI/8 Gl/A Gl/A Gl/A  Gl/4
o ! 1 BRI g : i . [ i - ]
— - = LI ORZHE (-GR)
\QQV-\\W @ ! O-1ing(-G type) PS5 PS5 P5 PS5 PS5 PS5 P7 P7 P7 P7 P7 P7
LY [ 7 .
=y J \J—/Q & ) _:[- Ao o] N : é;’*ﬁ};’f’t‘;rz:g PT1/8 PT1/8 PT1/8 PT1/8 PTI/8 PT1/8 PTI/8 PT1/8 PTI/8 PT1/8 PTI/8 PT1/8
n'S-7 o R - XXIRY i G
- .- : : p 6 Screw plug Gl/8 G1/8 GI/8 GI/8 GI/8 GI/8 GI/8 GI/8 Gl/4 Gl/4 Gl/4 Gl/4
N ] = ) k - ., PN SES——
HHILGIRA / - - S GEEAT - SN N SN [ A,

105 | & i EE 61 & 5 PNEUMATIC & HYDRAULIC CLAMPS | 106





